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PROBLEM STATEMENTS
1. Find the scalar and vectar projection of (3,2) onto
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}. Eliminate the parameter to find the Cartesian equation of each curve below. Sketch the parametric

curves amd indicate the direction i which the curve is traced with an armow,

Ly=28-2

(a) r=5

X-G=-t l 4 =2(5—x)—2’

£e5-%

(b e=at+1,y=1"—4
X-1= 3t
X=I
Tt

cos(f) + 3, y=sin(@) -5 0<8 <27
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(a) r(t) = (1.2t - 5)
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L Y= 2-5
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(b) v(@ = (sinf), esc2{d))
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4. {a) Find a vector equation of the line passing through the points (2.5 and (-1,8).

/mgf_:’=:3g = -1 > w3 3Y=2,-12) = 45,5

P (3ee2, 305

() Find a vector passing through the point :|||<| perpendicnlar to the line in part (a),
=
= <3) 3>

X(£)=-3t+2

X()=2 +3¢
Y= 5+ 3t
(] Find a vector that is perpendicular to the line 3¢ — Ty = 4.
w=<7,37 3x-4=T1y
)
=37 4=y
6 (3,1 tr {~b,147
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parametric equations & =7+ 2t, y = 1 -

£

r(t) = (4 + 3t, —6 + 2t)
(t) = (=61, 4+Tt) —m=—
() = (~6+ 2,4 3t) = pn= =
r(t) = (4 +2t, —6 — 31)
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2. Find a vector equation of the line that passes through (—06.41)
St.
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5. Determine if the following lines are perpendicular, parallel, or neither. If they are not parallel,
find the point of intersection.

Li:(5-3tt+1) —= m=2j “dt=4s+]
Ly: (s + L1254+ 1) 5,0 2 3 ket~ 125 +1)3
t+3 =365+ 3
-
=3 |
Wh (3.) \’V_v"\.'m;='3’4‘|'|7- 8=405+4

3
m =< Ve - .
m, =<4,12) O = perpendicutor 4=4ps

S LU, )

. Find the exact value of the expression.
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1) aree (JF( \;3) = Eg

7. Simplify the expression.
{a) tan (aresin [x))

R Sin9=—|"—
.
/) cl

(b sin (tan~"! (x))

X W= e g Sin 9= == tai (=0
] He= W x*+| X= fﬂV\(Q)
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8. State the value of the given quantity, if it exists, from the given graph of f(r} below.
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flzy==1
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